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Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in
.18

Section : General Section

Q-1 Find out the two signs to be interchanged to make the following equation correct.
10+10%10-10+10=-89

Ans xl--andx e \

W 2 xand+ \

X 3 +and x
X 4 -and -+

&UHDIHG EN IUHH YHWILRQ RI = RFX)UHH]HU

Duestion ID : 9895803716

Q_Z The statements below are followed by two conclusions labeled I and II. Assuming that the iy
is true, even if it appears at variance with generally established facts, decide which ¢
follow(s) from the information given in the statements.

Statements: Q
1.) All owls are horses. [ ) Q

X

2.) Some horses are hares.

1. Some owls are hares.

11. Some hares are horses.

Ans  of 1. Only conclu% OWS.
X 2. Neither u I nor conclusion IT follows.

/< 3. Both con ns follow.
/< 2. Only conclusion I follows.

Question ID : 9895803710
Chosen Option : 1

Q3 Select the option that will correctly replace the question mark (?) in the series.

13, 25, 42. 69, ?
Ans of 1111
X 2 105
X 3 95
X4 125

Question ID : 9895803712
Chosen Option : 2
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Q_4 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
is true, even if it appears at variance with generally established facts, decide which conclusion(s) logically and definitely

follow(s) from the information given in the statements.

Statements:

1.) All pens are frogs.

2.) Some crows are frogs.
Conclusions
I. No pen is a crow.

II. Some pens are crows.

Ans  of 1 Either conclusion I or conclusion II follows.

< 2. Only conclusion II follows.

/< 3. Both conclusions follow.

/X 4 Onl lusion I follows.
x }TC.OIIC 151011 QLIOWS ° &

i Msmg
Chos:! 12

Q5 Select the option that will correctly replace the question mark (?) in the serj

112. 108, 92, 56, ? @
Ans (1.
X2 -7
X3 -6 (b’

X a7

Chosen Option : 1

Question ID : 9895803711

[ ]
Q.6 Choose the option in which the figure m : mbedded. (Rotation is not allowed)

Ans

X
Y| (B Y] |

Chosen Option : 3

Question ID : 9895803719

Q7 Choose the odd one out of the given options.
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Ans o 1. CEK

< 2. AHI
/< 3. DFH
X 4. CFI

Question ID : 9895803699
Chosen Option : 3

Q8 Select the option that will correctly replace the question mark (?) in the series.

SHO, QIN, OLM., ?
Ans X 1 LWV
X 2 LWL
v 3 MNL o A

< 4 MML \

pattern. (Rotation is not allowed).

1 ‘b‘Q

Q.9 Select a figure from amongst the four alternatives that when placed in the blank space (?) of figure X will c@

Ans

Question ID : 9895803718
Chosen Option : 4

Q.1 Select the option that is related to the third number in the same way as the second number is related to the first number.
0

22 BRy=3T2

Ans X1 221
< 2 144
X 3 169
v 2 370

Question ID : 9895803713
Chosen Option : 2

Q.1 Eight friends A, B, C, D, E, F, G and H are sitting around a circular table facing each other for a lunch. A is opposite D
1 and third fo the right of B. G is between A and F. H is to the right of A. E is between C and D. Who is sitting between B
and E?

Ans
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X
oy

Question ID : 9895803707
Chosen Option : 2

Q.1 Seven friends O, P. Q, R, 8. T and U are watching a movie sitting in a row. P is sitting at one extreme end. Q is sitting to
2 the immediate left of S. P is sitting second to the right of T. U is not sitting at any extreme end. O is sitting between R
and T. Who is sitting between Q and R?

Ans Xl- Q
X2T
X3 R
vais

Chosen Optiof®:

Question ID : {358706
4

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.

3
Ichthyology: Fishes : : Pedology : 7
Ans X 1 Shells @

/< 2. Names

v 3. Soil
< 4. Moon (b

Question ID : 9895803701
Chosen Option : 3

inl Select the option that will correctly replac% Ksﬁc mark (?) in the given pattern.

X
>

Question ID : 9895803715
Chosen Option : 2

Q5'1 Choose the option that would follow next in the given figure series.

»6 | 5| X B ?

A B C D E

Ans
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Question 1®: 9@717

Chosen Optio

6 a

Ans

Q.1 A square transparent sheet with a pattern is given. How will the pattern appear when the transparent sheet is folded

long the dotted line?

a3
N
X

x. HX (b‘Q

x
D
¥

H
L TEN———

v

snsmmmammnet

Question ID : 9895803721
Chosen Option : 4

Q1
7

I KL, M, N and O are six teachers. Each one teaches a different subject out of Hindi, English, Math, Science, Social
Science and Arts, not necessarily in the same order. Each of them teaches on only one day, from Monday to Saturday,

not necessarily in the same order.

J teaches Science on Wednesday. O teaches Math second after J. K teaches on the first day of the week, but teaches
neither Hindi nor English. M teaches English before N and L teaches Arts before J. Who teaches on Tuesday?

Ans x 1. M
X2 K
Vs L
X4 N
Question ID : 9895803708
Chosen Option : 3
Q.1
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8 Choose the option that most closely resembles the mirror image of the given figure when mirror is placed at the right

side.

Ans

NEIEIE

estion 1D : 9895803720

Q.1 In a certain code, POTATO is written as AOOPTT. How will BARBER be wri t code?
9

Ans of 1 ABBERR (b’

/< 2. ABBRER
/< 3. ARBERB

X 4 ABRBER . 0
\ Question ID : 9895803704

Chosen Option : 1

Q2 . ‘
o Choose the odd number given options.

Ans X 1. 97 0
< 2 89
X 3 83
v 63

Question ID : 9895803714
Chosen Option : 4

Ql'z Select the Venn diagram that best represents the given set of classes.

Wheat, Crops. Farmers
Ans

KoL
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Question I®: 93@@722

Chosen Option,:

%2 Choose the odd one out of the given options.

Ans of 1 Yellow
X 2. Pink @
X 3. Purple
/< 4. Orange

Question ID : 9895803700

Chosen Option : 2
Q.2 Select the option that is related to the third term in the.same y segdnd term is related to the first term.

: Achieve: Fail : : Gloomy : ?

Ans X1 Chalk &\
& 2. Chant %
X 3. Chase @
v 4 Cheerful

Question ID : 9895803702
Chosen Option : 1

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.
4
BFH:DHJ::GKM:?

Ans X 1. MKI
v 2. IMO
X 3. KMG
X 4 MKG

Question ID : 9895803703
Chosen Option : 2

Q5-2 In a certain code, SAW is written as 38. How will FEED be written in that code?

Ans x 1. 70
X 2 45
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v 3. 88
X 4 30

Question ID : 9895803705
Chosen Option : 1

Q.2 Which articles of the Indian Constitution cover the fundamental right against exploitation?
6

Ans X 1. Articles 29-30
X 2. Articles 19-22
< 3. Articles 14-18
v 4 Articles 23-24

Question ID : 9895805348
Chosen Option : 3

([ &
Q7'2 Where and against which country did Sachin Tendulkar score his 100t century?

Ans 3 1. Perth stadium, against West Indies 0

' 2. Shere Bangla stadium, against Bangladesh

/< 3. Eden park, against New Zealand &

< 4. Sydney cricket ground, against Australia

Question ID : 9895805355
Chosen Option : 2

%2 In which state is Kaziranga National Park s}
Ans of 1. Assam

/< 2. Madhya Pradesh ®
/< 3. Rajasthan

Question ID : 9895805339
Chosen Option : 1

o

Qéz Which of these la is declared *classical® by the Government of India?

Ans X' 1. Marathi
A 2. Hindi
v 2 Odia
X 4 Pali

Question ID : 9895805335
Chosen Option : 2

3 : : 4 !
Qo Arrange the following events in correct chronology:

1) Champaran Satyagraha against indigo plantation
2) Starting of non-cooperation Khilafat movement
3) Rowlatt Satvagraha

4) Aurrival of Simon commission in India
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V1 1-3-2-4
X 2 3-4-2-1
X3 4-2-1-3
X 4 1-2-3-4

Question ID : 9895805342
Chosen Option : 2

Q1-3 What was the amendment done to the Indian Constitution by 5284 amendment done in 19857

W 1 Anti-defection law was included

X2

Amendment to the Union and State lists with respect to raising of taxes
/5 3. The words *socialist secular’ added to the preamble

/X 4. Formation of Sikkim as a state within the Indian Union

o Ay _
Questlon 1D 5805341
Chos:! 14

Q2'3 The Mettur dam is built on which river and is in which state?
Ans X 1. Tungabhadra river, Karnataka é«

/< 2. Kali river. Karnataka
« 3. Kaveri river, Tamilnadu (b

/< 4. Narmada river, Madhva Pradesh

Question ID : 9895805344
Chosen Option : 4

Q 3 Which of these personalities is popularly know er of the Indian film industry’?

Ans X 1. Amitabh Bachchan
v 2. Dadasaheb Phalke %
& 3 Dev Anand
/X 4. Rajesh Kh

Question ID : 9895805338
Chosen Option : 2

Qf' The silver coin introduced by Sher Shah Suri was called:

Ans X 1. Tankah
' 2. Rupiya
/< 3. Mohar
/< 4 Dinar

Question ID : 9895805345
Chosen Option : 3

QE;S The Kani Shaw! handicraft variety belongs to which of the following states of India?

' 1 Jammu & Kashmir
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& 2. Arunachal Pradesh

/< 3. Himachal Pradesh
/< 4. Uttar Pradesh

Question ID : 9895805358
Chosen Option : 3

Qb:3 Which of the following is not a term associated with credit?

Ans X 1. Necessary documents

X 2. Collateral
/< 3. Interest rate
' 2 Stamp by finance minister

Question ID : 9895805354
Chosen Optiog,: 3

Q7-3 Which of the following competitions is not associated with Indian football? &

Ans o 1. Ranji Trophy

/< 2. Federation Cup &

X 3. Santosh Trophy

< 4 Durand Cup Q

Question ID : 9895805357
Chosen Option : 3

Ans o 1 Vitamin C

X 2. Vitamin A \‘\
X 3 Vitamin D %

%3 Scurvy is caused by the deficiency of 6

X 4 Vitamin K @
0 Question ID : 9895805351
Chosen Option : 1

Q§3 In which Indian state is bamboo drip irrigation system a very old practice?
Ans 1. Chattisgarh

' 2. Meghalaya

X 3. Telangana

# 4. Maharashtra

Question ID : 9895805350
Chosen Option : 2

Qd“ Which is the highest quality hard coal of the below?

Ans X' 1. Peat
< 2. Lignite
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& 3. Bituminous
« 4 Anthracite

Question ID : 9895805343
Chosen Option : 3

24 The Treaty of Purandar was signed between:
Ans X 1. Afghans and Portuguese

< 2. Nawab of Bengal and Rajputs

/< 3. Eastern Gangas and Cholas

« 2. Mughals and Marathas

Question ID : 9895805337
Chosen Option : 3

Q2-4 Which of the motions is passed in the parliament to remove the President of India?

Ans o 1. Impeachment Motion 0
& 2. Censure Motion
& 3. Cut Motion @

& 4. No Confidence Motion

B
‘ Question ID : 9895805347

Chosen Option : 1

Q.4 Which of these is an organisation that promotes sustainable management and -@
3

Ans X 1. United Nations Forum on Fore
°

ion of tropical forests?

/< 2. Greenpeace

< 3. World Wide Fund for N&\
e

' 2 International Tropical(Zi Organization

@ Question ID : 9895805340

Chosen Option : 3

Q4i4 Which of the fd{lov issues currency notes in India?

Ans X 1. PNB
v 2. RBI
< 3 SBI
X 4 ICICI

Question ID : 9895805353
Chosen Option : 2

%4 What is the neutral value of the pH scale?

Ans X1 Equal to 14

X 2. Lessthan 7
v Equal to 7

X 4 Above 7
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Question ID : 9895805349
Chosen Option : 4

Qé“ Bananas turn brown in colour because:
Ans X 1. an enzyme converts starch into sugar
' 2. the air reacts with the enzymes in the banana
/< 3. Bisphosphonates reacts with the enzymes in the banana

/X 4. an enzyme converts sugar into starch

Question ID : 9895805356
Chosen Option : 1

Q7'4 On which of the below can an excise duty charged?
Ans 1. A company’s revenue ° &
/< 2. Export of goods and services \
/< 3. Import of goods and services &
v 4. Goods manufactured

Q.4 Who is the author of the book ‘India’s Export Trends and Prospects for S
8

Ans X 1. Shashi Tharoor Q
' 2. Manmohan Singh Q
°

X 3. Atal Bihari Vajpayee

Growth'?

Chosen Option : 2

& 4 Narendra Modi N\
% Question ID : 9895805336

%4 In which Indian stasg is ornbill festival celebrated?
Ans of 1 Nagalang

< 2. Manipur

X 3. sikkim

7< 4. Tripura

Question ID : 9895805346
Chosen Option : 2

%S What is the name of Malala Yousafzai's biopic?

Ans X 1. The Aviator
X 2. Frida
X 3. The social network
v 4 Gul Makai

[ Question ID : 9895805334
questionpaperdrive.in
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l Chosen Option : 1

Q5 What is the median of the given data?

e B S o O
Ans xl- 4

X245

V3 35

X3

Question ID : 9895805646
Chosen Option : 1

Q.5 A sum becomes five times of itself in § years at simple interest. What is the rate of interest per annum?
2

Ans X1 37.5%
X 2 25% ‘N
X 3 62.5%
v 1 50%

estion ID : 9895805653

Students
P1| P2 |P3 P4
89 | 100 | 92 | 91
62| 52 |72 |37
55 |70 |65
76 | 8BS | 76 | 58
85| 70 | 66 | 62

A FEA IR

‘What is the difference in the average marks per student for subjects S, 2

Ans Xl- 12 ®

Question ID : 9895805663
Chosen Option : 3

Q.5 The length breadth and heighi boid are in the ratio 4 : 3 : 2. If the volume of cuboid is 1536 cm®, then what will
4 be the total surface area of the cuboid?

Ans X1 868 em?
X 2 416 cm?
X 3 624 cm?
v 4 832 em?

Question ID : 9895805661
Chosen Option : 3

Q.5 The length, breadth and height of a solid cuboid is 20 cm. 16 cm and 12 cm respectively. If cuboid is melted to form
5 identical cubes of side 4 cm, then what will be the number of identical cubes?

Ans x 1. 56
X272
< 390
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v 4 60

Question ID : 9895805660
Chosen Option : 1

Q.5 A bike covers a certain distance at a speed of 56 kivhr in 16 hours. How much time it will take to cover the same
6 distance at the speed of 64 kn/hr?

Ans  of 114 hr

X 2 18 hr

X 3 16 hr

X 4 12hr

Question ID : 9895805658
Chosen Option : 4

Y Sl b heevnl f(3><15[}t};40+5;5 ?u)v
7 1s the value o : '?Of : o A

Avs o %= \
v o

Question ID : 9895805641
Chosen Option : 4

Q.5 curved surface area of a cylinder is 110 cm?. If the height of cylinder is 5 ¢ n whit will be the diameter of its base?

I
. °
Ans X1 14cm Q
\f 2.7 cm &\
K3 35cem

75 4. 10.5 cm

Question ID : 9895805659
Chosen Option : 2

Q.5 Mohit and Sumit start a busin ith investment of T 74000 and T 96000 respectively. If at the end of the year they
9 earn profit in the ratio of 5 : 8, then what will be ratio of the time period for which they invest their money?

Ans X1 37:32

X 213:18
K 3.25:32
v 4 30:37

Question ID : 9895805652
Chosen Option : 4

Q.6 The value of discount of 18% on first article is equal to the value of discount of 13% on second article. What is the ratio
0 of the marked price of two articles?

Ans X1 17:24
X< 2.39:50
V3 13:18
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K4 13:19

Question ID : 9895805645
Chosen Option : 1

Q8 What will be the Highest Common Factor of 5, 10 and 207

Ans “1. 5
<210
X3l
X415

Question ID : 9895805640
Chosen Option : 1

Q.6 The average weight of 12 boxes is 63 kg. If four boxes having an average weight of 70 kg are removed, then what will
2  benew average weight of the remaining boxes?

Ans x 1. 60 kg ® &

X 2 59kg \

X 3 60.5kg
2 505kg

uestion ID : 9895805643
Chosen Option : 2

Q.6 Falone can complete a work in 24 days and G alone can complete the same work in 32 start the work

3 together but G leaves the work 8 days before the completion of work. In how man 5 work will be
completed?
Ans . 130
X 1. = days
5
3 106
X 2 = days * Q

XS. ? days &\
R

Question ID : 9895805655
Chosen Option : 3

Q.6 Working 2 hours in a day, P can complete a work in 10 days and working 5 hours in a day, O can complete the same
4 work in 6 days. Working 3 hours in a day, in how many days both P and O together can complete the same work?

Ans 51 3 days
X 2. 6 days
W 3. 4 days
X 4. 5 days

Question ID : 9895805656
Chosen Option : 3

Q.6 Mohit purchases eggs at the rate of T 3 per egg and sells them at the rate of T 5 per egg. On selling 35 eggs, what will be
5 the profit percentage?

Ans X1 33339
X 2. 40%
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X 3 60%
v 4 66.66%

Question ID : 9895805648
Chosen Option : 4

Q.6 A bag has white and yellow balls in the ratio 7 : 11 respectively. If the total number of balls is 108, then how many balls
6 areyellow?

Ans of 166
X2 44
X 3 64
X 4 77

Question ID : 9895805650
Chosen Option : 1

Q.6 Varun purchases 75 articles for T 3150 and sells them at a profit equal to the cost price of L5 articles. What will be the ®
7 selling price of one article?

Ans X 1. T 42 \
X2 3Fs515
vz 504
X4 T 46.5

Question ID : 9895805649
Chosen Option : 1

Q.6 The average age of students is 4 and the average age of teachers is B. The numbe
8 number of teachers. What is average age of students and teachers together?

s is 45 times of the

Ans x . 454 + 88
' 7

454+ B [ ]

2.
v 46 \
- 45A +B
3 et
X :
x4 454 + 4B

23

Question ID : 9895805644
Chosen Option : 4

Q.6 The table given below shows the number of students envolled in different courses of different colleges.
9 )
Courses
BI | B2 | B3 | B4
Cl | 65|56 65103
Cc2 |68 [s8|71]112
Cc3 |72 [s4[88 125
c4 |76 [52]75 120
cs 69|60 79 126

Colleges

‘What is the difference in the total number of students enrolled in colleges C3 and C4?
Ans x 1. 13
X2 11
X3 12
v 16

Question ID : 9895805664
Chosen Option : 2
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Q.7 Ram, Sita and Salma invest T 16000, T 22000 and T 18000 respectively to start a business. If the profit at the end of the
0  vear is T 26600, then what is share of Ram?

Ans X 1. T 10450
X 2. T 8550
X 3. T 0650
v 4 T 7600

Question ID : 9895805651
Chosen Option : 2

Q.7 A student got 24% marks in an exam and he failed by 56 marks. If he got 60% marks, then his marks are 70 more than
1  the minimum passing marks. What is the maximum marks for the exam?

Ans “1. 350
X 2. 260
< 3. 380

X 4. 280 A

5647

sz What is the value of [75 + 2bof G—%+ %)]?

Ans . 5
X2
&
v 3
: 7
X3 -
&
Xas
PS Question ID : 9895805642
Chosen Option : 2
Q.7 Raju travels at 3/4 of his usual speed and reaches hidoffi utes late than his usual time. If Raju travels at his
3 usual speed, then what will be the time taken by c[T9s office?

Ans X1 64 minutes @
v 2. 72 minutes
< 3. 48 minut
X 4. 56 minu

Question ID : 9895805657
Chosen Option : 3

Q.7 Compound interest received on a sum in st vear is T 1200 (interest is compounded annually). If the rate of interest is
a4

22.5% per annum, then what will be the interest in 6 year?

Ans of 1 T 1470
X2 T 1270
X 3 T 1200
X4 T270

Question ID : 9895805654
Chosen Option : 4
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The table given below shows the production of rice and the area under rice cultivation of a country for 5 consecutive
years Y1, Y2, Y3, Y4 and Y5.

Year Rice Area Under Rice
Production Cultivation (in
(in 1000 kg) | 100 square meter)

Yi 520 130
Y2 570 190
Y3 680 150
¥4 720 180
Y5 850 170

‘What is the yield per square meter for the year Y37

Ans X 1. 37.66 kg

X 2. 63.33kg
v 3 4533 kg
X 4 52.50kg
Question ID : 9895805662
Chosen Option : 2
Section : English Language L &
Q.1 Select the most appropriate word to fill in the blank. \,
We should always remember not to any problems and issues that may affect our career in any organisation.
Ans X1 affect
< 2. undertake
X 3. inflict @
v 4 create
Question ID : 9895805202
Chosen Option : 4
Q.2 Select the most appropriate option to substitute the underlined segmen entence. If there is no need to

substitute it, select No Improvement.

After you will return from Bangalore, I will come and et ouO

Ans 3 1. After you will be returni%
& 2. No improvement

& 3. After you returned ffo

W 4. After you regun

Question ID : 9895805181
Chosen Option : 3

Q3 Select the antonym of the given word

AWKWARD

Ans X 1. Problematic
v 2. Convenient
X 3. Difficult
< 4. Matchless

Question ID : 9895805195
Chosen Option : 1

Comprehension:

questionpaperdrive.in

U+




questionpaperdrive.in

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Seafood exports from India (1) vet to gather momentum as
(2) prices, adverse weather conditions and (3)

continue to affect stocking of shrimps. which account for about three-
fourths of the (4) from export of marine products. This apart,
seafood exporters are facing (5) from the Seafood Import
Monitoring Programme (SIMP) being implemented by the US and it
is one of the largest buyers of Indian shrimps.

SubQuestion No : 4

Q4 Select the most appropriate option that will fill in
the blank number 1.

Ans 1. be
X 2. has
o 3. are
X 4 was

Comprehension:

In the following passage some words have been deleted. @

blanks with the help of the alternatives given.

Seafood exports from India (1) yet to ga tum as
(2) prices, adverse weather conditio

continue to affect stocking of shrimps. whigh t for about three-
fourths of the (4) from export roducts. This apart.
seafood exporters are facing (5) @ he Seafood Import
Monitoring Programme (SIMP) bpififginipfemented by the US and it

is one of the largest buyers of

SubQuestion No : 5

Q5 Select the most appropri option that will fill in
the blank number 2

Ans X1 low 0
2 2 little
< 3 small
« 2 high

Question ID : 9895805188
Chosen Option : 4

Comprehension:
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Seafood exports from India (1) yet to gather momentum as
(2) prices, adverse weather conditions and (3)

continue to affect stocking of shrimps. which account for about three-
fourths of the (4) from export of marine products. This apart,
seafood exporters are facing (5) from the Seafood Import
Monitoring Programme (SIMP) being implemented by the US and it
is one of the largest buyers of Indian shrimps.

SubQuestion No : 6

Q6 Select the most appropriate option that will fill in
the blank number 3.

v 1 diseases
& 2. viruses
/< 3. bugs

& 4 maladies

Comprehension:

In the following passage some words have been deleted. he
blanks with the help of the alternatives given.

Seafood exports fromIndia(l) vetto g Wolflentum as
(2) prices, adverse weather conditio d
continue to affect stocking of shrimps. whiéacyunt for about three-
fourths of the (4) from exgort of My ityrproducts. This apart,
seafood exporters are facing (5) % the Seafood Import
Monitoring Programme {SIMP} ing§plemented by the US and it
is one of the largest buyels of
SubQuestion No : 7
Q7 Select the most appr tion that will fill in
the blank number 46
Ans (1. takings
# 2. income

< 3. cash
o 2 revenue

Chosen Option : 4

Question ID : 9895805190

Comprehension:
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Seafood exports from India (1) yet to gather momentum as
(2) prices, adverse weather conditions and (3)

continue to affect stocking of shrimps, which account for about three-
fourths of the (4) from export of marine products. This apart.
seafood exporters are facing (5) from the Seafood Import
Monitoring Programme (SIMP) being implemented by the US and it
is one of the largest buyers of Indian shrimps.

SubQuestion No : 8

Q8 Select the most appropriate option that will fill in
the blank number 5.

Ans X 1. rapture
/< 2. pleasure
7< 3. capture
o 4 pressure

Q.9 From the given options, identify the segment in the sentence which contains the grammatical errg

The government’s interim budget from this financial year contained several measures which i3

elections in mind.
Ans o 1. from this financial year (b

< 2. Government’s interim budget

& 3. which have the Q’
X 4. contained several measuras Q

Chosen Option : 2

&\ Question ID : 9895805179

Q.1 Select the most appropriate option to subs theyunterlined segment in the given sentence. If there is no need to
0 substitute it, select No Improvement,

While learning to drive, one of ost ol giportant things is to know the traffic rules first.

< 3. When learn driving
& 4 When learn to drive

Question ID : 9895805182
Chosen Option : 4

Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.
1

Soon after returning to office, the CBI chief transfer five officers.
Ans X 1. returning to office,
/& 2. the CBI chief

v 3. transfer five officers
X 4. Soon after
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Question ID : 9895805178
Chosen Option : 2

1 )
Qz Select the correctly spelt word.

Ans X 1. Substitushion
v 2. Substitution
& 3. Substituition
X 4. Sabstitution

Question ID : 9895805200
Chosen Option : 3

Q3;1 Select the option that means the same as the given idiom.

To cut both ends
Ans X 1. To reject all arguments o A

« 2. To argue in support of both sides 0

X 3. To consider the truth and untruth

/< 4. To argue against both sides of an issue

uestion ID : 9895805196
osen Option : 1

Q1 Select the antonym of the given word. ¢

- 'QQ

Ans X 1. Folklore

v 2. Lethargy o 0
\

/< 3. Song

Question ID : 9895805194
Chosen Option : 4

X 4. Music @%

Q1 Select the corr elt word.
Ans X 1. Magnanemous

/< 2. Magnanomous

v &3 Magnanimous

/< 4. Magnonimus

Question ID : 9895805201
Chosen Option : 1

Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.
6
The Builders® Associations want GST exemption for government projects which have already proposed.

Ans o 1 which have already proposed.
X 2. want GST exemption
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X 3. for government projects

< 4 The Builders® Associations

Question ID : 9895805180
Chosen Option : 1

Q7-1 Select the most appropriate option to fill in the blank.

Is it true that the students from the Space Research Centre

Ans o 1 are arriving
X 2. is arriving
/< 3. has arriving

/< 4. have arriving

this evening?

Question IB: 9895805184
Chosen Option :

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to

8 substitute it, select No Improvement.

These flowers smell sweetly and are sold at high prices in the market.

Ans X 1. These flowers will smell sweetly
X 2. These flowers smelt sweetly
< 3. No improvement

v 4. These flowers smell sweet

<
O

Question ID : 9895805183
Chosen Option : 4

Qél Select the word which means the sx e group of words given.

One who studies antique thi N
Ans X 1. Historian @

X 2. Sociologist

< 3. Archaesolefist

' 2. Antiquar

Question ID : 9895805199
Chosen Option : 3

2 :
Qo Select the synonym of the given word.

INCORRIGIEBLE
Ans X 1. Reliable

X 2. Unwise

< 3. Intelligible

v 4 Unalterable

Question ID : 9895805193
Chosen Option : 4
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Q.2 Select the most appropriate word to fill in the blank.
1

AlthoughIwas  of his new plans for growth of the company, I relied on him as he was very honest.
Ans 31 persuaded

& 2. committed

& 3. convinced

W 2 sceptical

Question ID : 9895805203
Chosen Option : 1

QZ'Z Select the word which means the same as the group of words given.

One who offers one’s services without anything in return
Ans of 1 Volunteer o A

/X 2. Entrepreneur 0

< 3. Businessman
X 4. Investor

Q ion ID : 9895805198
Chéjsen Option : 3

Q2 ;
5 Select the synonym of the given word.

DISHEVELLED Q
Ans x 1. Unsafe Q

& 2. Unclean
. ) °
/< 3. Uncertain
« 4 Untidy &\
; , Question ID : 9895805192
@ Chosen Option : 3
Q.2 h gy
5 Choose the cour g of the following idiom.

To get away wi
Ans o 1. To escape from something
/< 2. To go away from home
X 3. To finish an assignment
< 4 To go to an unknown place

Question ID : 9895805197
Chosen Option : 1

%2 Select the most appropriate option to fill in the blank.

example helps understand a concept better.
Ans x 1. Few
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X2 A
v 3 An
X 4 One

Question ID : 9895805185
Chosen Option : 3

Section : Hindi Language

! R T Y s & AT 39gFT g T AL
AT AT AL ITF TR @ &
e s g
X2 g
v s
X g

°? o I I oeE W TEA Q“J
Ans X1 g (b’

v 2 DETER

X s fafamr Q

Question ID : 9895805509
Chosen Option : --

Q3 R v I # Wifea @2 = % O 3957 ReeT & 797 =
offSr 3T T1E g9 +F IR A e g |
Ae X 1w |

X 2 mar gr [T
X 3 AT e g T
V' o AT 98T g T

Question ID : 9895805489
Chosen Option : --

¢ fow T e w1 faEH o=
Ty

Ans xlm
X 2 ST
' BT
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X 4 oaem

Question ID : 9895805501
Chosen Option : --

® R T 1 8 F AT 39GFT g F AT AL
7 & gt F et dme sEE g
X He
Vo

< 3 gy
X 4 T

Ans

Question |®: 9@491

Chosen Optiog\r
¢ 7 a3 Irer ARg W T Wi &
Ans (1, =4l &

X 2. GAAAT
X 3 Healedrl Q@

X 4 Taatedr

Question ID : 9895805508
Chosen Option : --

7 Ry T weg % SHTEET U g

- Y
o

X 2. FHIsT

X< 3. OdTeRT 0
X o qUT 0

Question ID : 9895805503
Chosen Option : --

®® R T 1 s & AT 39GFA g F T AL

ARG ] & gorrar 3 9 wErE

Ans X 1. GG
v ot
X 3. PFEHIRR

< 4 aTedr

Question ID : 9895805493
Chosen Option : --
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Q.9

Comprehension:

few v sq=te # FT e ger fw e §) fqw aw
et $r meraar ¥ =g v 97 939 = &
fore sugea RweT &1 797 #

i ST SgHeT Org # (N AREIAE
a9 O% JURN ST § S d 3 @i (2)

T @ AT AT I AAF, 9FH o 9 AT SHOC g o

ot #r TWE (3) B TR e & o
ElE) (4) & FIH & =TT H 7T THAT
Yeaferd T@eAT AT Siaed Hr ATHETAT & T g
Jag F Uk FT TIH FH T T o 0 G
(5) % I FF A g

SubQuestion No : 9

ey # wHlaa e v (1) % o sagea 6&

oreg, g1 -

o 3¢ e
o

X 2 o
< 3 AT

¢ A

&\

E S

Question ID : 9895805495
Chosen Option : --

Q.1
0

Comprehension:

few 1w seqete # 3@ g ger fu e 81 Rw aw
femenr &r T #Y| 9% §EAT &
ﬁ?ﬂﬂﬁ@ﬁmﬁi

e AT 9geT o1 A (N HFXITTAR T
99 O% TR ST § 59 9% 3T T (2)

o @ AT AT I AAFT 9EH o 94 A0 AT g7 o

T # WE (3) B TR Aas & T
3T (4) F TTw $r 9T F T gAY
Seafad Wl AT Siaer Hr HwEnst & Jgd ge
9aTg @ Ak HT TIH FH a4 Fa7 ol 9T ST
(5) ®% I[AT §G AT g

SubQuestion No : 10

questionpaperdrive.in

U+




questionpaperdrive.in
AT H Havfad N T (2) & fow s9gaa
ez g -
Ans  of 1 37EET
X o o
X g
X

Question ID : 9895805496
Chosen Option : --

Comprehension:

few 1T 3T=0e # $T e ger fovw C g fw A
et & weTar ¥ oa w1 9@s TEr &
fore sugea fweT &1 797 #

i SFAET agHeT O1g A (NN AREIAE

maﬁﬂmmﬂﬁﬂmﬁ
_(S)ﬁ?,HTﬂEW%lg
SubQuestion No : 11

% aremiy & @6faa e fore suged
2reg, g9 - zj%

Ans X1 mﬁ 0
E O
o 3 QF

X4.§3T

&
IS

Question ID : 9895805497
Chosen Option : --

Comprehension:
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few 1T 3=t # $T e geT R AC §) fRw A
et & weTar ¥ oa w1 9@s TEr &
fore sugea RweT &1 797 #

e S SgHeT urg # (MHFARETA T
a9 d% d9UTl ST § 9 dh 3R GiT (2)
o 2 FIT A7 9 AR AEH 94 F0| SHIAT g5 off
0T T RE (3) & A el & T
T (4) & TgF Fr ST F T FET
gafad WAt AT Sfaer v Aeant & 9gd ge
JaTg FF Ik T TTH FH ST T ofed T Siaed

(5) % I[AT 5§ A g

SubQuestion No : 12 &,\
% ey # T RET e (4) F fw s b
T EET - &
ms g e @

X & ‘UQ

75 3. @rer

X ¥ Q
Question ID : 9895805498

ﬁ'crmmﬁ‘&zﬁm ﬁ.‘(rmr%‘lﬁ:@m

Chosen Option
Comprehension: ;

" S SgHCY arg A (NN AREIAE
a9 g% AU AT § 9 deh 3HA @e (2)
o 2 FIT A7 9 AR AEH 94 F0| SHIAT g5 off
=0T T OWE (3) B TR e & forT
39 (4) # FOH $r saeT F T qFAT
gafad WAt AT Sfaer v Aeant & 9gd ge
9aTg S Uk FT TIH F S Fa7 ofd W ST
(5) % T FF A g

SubQuestion No : 13
% sz F gHfaT e T (5) F e suged
e EPET -
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Ans o1 e
< 2 g
v 3 T
Ko orfFT

Question ID : 9895805499
Chosen Option : --

% Rl 3 qrre F Rw o e gET

e avw 7 2 o
ANS of | amfm

X 2. gl

X 3 fggog

X 4 3o

% T w e F FEw Q
347 (b

e K1 e Q
Vo 3
X3 v . QQ

Chosen Option : --

X 4 FHISA \
c\\; Question ID : 9895805500

Qélﬁumammz@@ﬂﬁﬁ'ﬂﬁaﬁégﬁ%l
ICEIECT TETAIT 3AFT TATTSS SiieT 92T 2 )
Ans X 1 gaAfaF

X 2 AT 3

X 2w g g

v o eI weEdr B #

Question ID : 9895805485
Chosen Option : --

Q1 fow T s # wifra s # sfoeaf w0 fe svgea e @1 9w )
3T 21 I ST IS IgaaT Hell gt 7 Arufderar g @il

At K e U W T Hst
v 2 3O gor F F4T FOE
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X 3 HIAT T H FAT FI3T

X 4 39T T 9T FAT FIST

Question ID : 9895805487
Chosen Option : --

Qél few o aFm & FF AT A Y SEE B I g
AT 9 A & FC F gT A F TheT FIA § 79 I FAT TW W AT HLA &
X 1 gT P N Fhod HLAT 8

X2 FEr & Fs F:
v o B S

Ans

X o 9 7€ 499 T W AT T 2

Question ID :Qa‘sme

T FEI H TSH AU OIS T T &l

X 1 3T HEOTSAT B T g
X 2. HYAT 3ol @ & 2 (UQ
X 3. AT =S @ & B

v ¢ FTAr s=oTSar @ & B QQ

Qél mmmﬁmﬁﬁﬁmm¢ﬁv3ﬂwmwm{

Ans

o Question ID : 9895805488
Chosen Option : --
deﬁmaﬁﬁmﬁma;rm y T T HeTE F Y emEd FT B
Ans X1 3T = 7
V2 i
X 3 39T HHEHAT

X 4 39T T HIHSTT GHSAAT

Question ID : 9895805505
Chosen Option : --

Q1-2 rfafae & 3 57 fweT & mo7 & 3 QF & a5 a7 JEEt & 3 e g

s Ko e #r a5 F agerer
X 2 ey a9 FF HSF #ges 7 8T
v 2 TSI O 919 FT SE-TEET FEaT
X 4 gz 9 e #1 A=

Question ID : 9895805504
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l Chosen Option : --

% R we @ ¥ R swgEd e F 9T F

oS T & §3T 37=OT I B
Ans Xlﬁmﬁ:
X2

X3 3eT
Vv 4 FOT

Question ID : 9895805490
Chosen Option : --

Qézﬁﬁmmr#%vWQmﬂﬁm o A

@ 1T F S "R \
- &

X 2. PITHT

v o 3ET @&

X o G

Question ID : 9895805506
Chosen Option : --

%’ %U?malaa:wm%ﬁamzﬁrg
[ )
Ans Tﬁm&r \
X 2 ITFR %
<

v s AT

Question ID : 9895805502
Chosen Option : --

X3 @

Y @ v IR #7797 ST A wY e FE IR

T 3R BeAdl $d=1 Hgenl & 7I¢ & &9 o F = 90 ¢l
e wer sl wfesar

X2 grae &

X 5 ZgS HEAT

X 4 81 IO H ST 9T g

Question ID : 9895805484
Chosen Option : --
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